
Second degré

Automatismes
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 



Question 2
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Question 3
 



Question 3

Ce tableau ne peut pas correspondre à une fonction polynôme de degré 2.



Question 4
 



Question 4
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Question 5
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Question 5

Ce tableau ne peut pas correspondre à une fonction polynôme de degré 2.



2e partie

Automatismes



Question 6
 



Question 6
 



Question 7
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Question 7
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Question 8
 



Question 8

Ce tableau ne peut pas correspondre à une fonction polynôme de degré 2.



Question 9
 
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 



Question 10
 



Question 10

Ce tableau ne peut pas correspondre à une fonction polynôme de degré 2.



Fin

Automatismes
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